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Question Paper Code : C 1385

\

BB Tech. DEGREE, EXAMINATION, APRILAIAY 2010,
Sixth Semestr
Mechanieal Engieerivg

ME 1334 — POWER PLANT ENGINER)

NG
(Common to 5. (Part-Tirae) Fifth Semester (Regslation: 2005)
Time - Thee hours Masinaum: © 100 marks
Any missing data can be assumed suitaoly

Answer ALL questions

PART A — 102 = 20 marks)
1. Olassify powwer plants on the basis of traditional use.
2 Indcase the advantago of load duration curve aver load curve

3 What is a stoker? Classify it

4. Meotion the uses of fy ash

5. Whatis the function of pressusiser i u PWR?
6 Why is surge Lank smpartant in a hydro plant?
. List down the advantages of a diesel power plast.

8. Why power generation by gas turbines 1s attractive these days?
9. What s the prineiple of operation of OTEC plants?

10, List the enerey tariff ty pes
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PART B — (5 % 16 = 50 maks]
Diseuss the advastages of combined extle poser generation. Fxplain the
working of GT-87 combined cyele plant.

o

(i1 What is a supercritical boiler? List down s merits and demerits.
[t

i What s acid rain? Bxpluin how sulphur s removed in a fluidised
bed combustar -

) With o near diagram, explain the operation of an electrostatic
precipitator ©

{i) What s a bag house? Describe the working of reverse air fabric
[}

or

How does a coling tower operate? Whst is an FD coaling tawer? Meation
s morite and domerits

) Discuss with a skete the main charactoristic features of BT (5)

W1 Expluin how she solid nuclenr waste materials ave disposed 18}
or

Bxplain with @ neat sketel @ pumped storage hydro plunt. State its
dvantages

[ Diseues the applieations of dicsel electric poser plants ®

i1 Explain hw engines ue selceted for diesel power plan 5
o

{1 Bring out the differences betsoen elosed exele aad apen cycle gas

turbine power plants. e

(1 Discuss the effect of intercooling and rebeating in a gas Lurbine
plant "

What s tidal energy? Discuss the differont types of tical plants with seat
diagrams.

or
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[image: image3.jpg]Calewlate the cast of pover gereration per KWh for a power scation
baving the following data - Instlled capacily of e
plant — 200 MW, Capital cost = Rs. 400 erores, Rate of intorest and
depreciation = 12, Ammual cost of fael, salaries and
axation = s § erores wnd load fctor = 50% ®

Compare the economics of steam, hydra,
sarbine powe

uclear, diesel and gas
plants ©
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